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QID : 201 -

In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

e v & Ry o Reedt & ¥ uw RE
(?) & FTAT W A drelr FEAT B FAT

/\/\"2;7\

125\ / 1
Options:
1) 65
2) 32
3) 64
4) 25

Correct Answer: 64
Candidate Answer: 64
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QID : 202 -
How many quadrilaterals are there in the given figure?
& ¢ sl F Reaa I €2
//\'\\__
!f:/-”//\\_/
Options:
1) 3
2) 4
3) 2
4) 5

Correct Answer: 4
Candidate Answer: 4
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QID : 203 -

A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘T’ can
be represented by 43, 75, etc_, and ‘U’ can be represented by 20, 97, etc.
Similarly, you have to identify the set for the word “REACH”.

THh eG hael TH GEAT-HAp SRT G T &, ofar f6 fwedr # |
ot v A G war &) faweut # Bu av dEur-aeg ERT & g a9t
aRT Rifw 1w §, Shar &5 Bu v af eyt # &1 Inegp & TaE 3R
Ufeh 1 T=AT1 0 F 4 § IR YN H 5 T 91 37 INYH ¥ TH IR
H UG I Ul IR A A TAFH TEAT GRT GT ST Wbl o
3GIRROT & fT T & 43, 75, 3N RT GRITAT ST Fhal & aar ‘U’ &t 20,
97, 37fG ERT GATT ST ThaT &l AT e § UM v # QU eeg
“REACH” & foiv @ag & ugaear &l

Matrix-I Matrix-ll

gl 3yl
0/1/2]|3]|4 5(6|7|8|9
0|lY[(C|U|G]| I S5(P|K[D|F|R
1(K|I|H|Q|E 6|GIW|O|H|V
2|U(E|Y|B|A T|TISTYIJI]S
3|F(H|[P|L|N 8(H|F|[I|L|R
4|1A(R[M|T|O 9ID[S|U|IN|A

Options:
1) 41, 21,24, 01,12

2) 89, 14, 69, 01, 85
3) 41, 89, 99, 89, 10

4) 21, 59, 40, 59, 12
Correct Answer: 41, 21, 24,01, 12
Candidate Answer: 41, 21, 24,01, 12
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204 -

From the given answer figures, select the one in
which the question figure is hidden/embedded.

& o 3R gfadl F ¥ 3@ T FgA F AT

Sa A

Uy agla @fea &

\

Options:

1)

\/
/\

2)

3)

4)

Correct Answer:

Cand

idate Answer:
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QID : 205 -

Which answer figure will complete the pattern in the
question figure?

Fld W W AFla T FFa & ulawT & q@
HM?

y

o\ [ 2\

Options:

1)

2)

3)

4)

EN

Correct Answer:

Candidate Answer:
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QID : 206 -

If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

afg o ZUT @ AB XaT W T@T AW, ar & T
IR AP A F Pl o FPpfa Uy dela Hr
e ufafasa aef?

Al

Options:

1)

7N
DX
/3

74

Correct Answer:
7N
DY
Y/

Download More Papers From GovtJobsAlert.In



Download More Papers From GovtJobsAlert.In

Candidate Answer:
V7N
',V
Y

QID : 207 -

A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

@ & gH Fpfadl # @T FGER FEE H
AR Deed JUT Treld & aIg a8 fhw 3R AHia
st e game

NS

Options:

1)

2)

7 P
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Correct Answer:

EN

Candidate Answer:

EN

QID : 208 - If '+ means '+, X' means '-', "= means '+' and
'='means ‘X, then

16 -5+2+22x9="7?

AR+ o aref '+, g ook =, = T oref e 4 T e X

gl,

16 -5+2+22x9="?
Options:

1) 82

2) 62

3) 60

4) 44

Correct Answer: 62
Candidate Answer: 62

QID:209-1f11C12D24=22and4C6D 12 = 8, then
4C9D18="?

gic11C12D24=22aa14C6D12=8¢g al

4C9D18="?
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Options:
1) 22
2) 12
3) 16
4) 8
Correct Answer: 8
Candidate Answer: 8

QID : 210 - Arrange the given words in the sequence in
which they occur in the dictionary.

1. Marked
2. Maker
3. Marker
4. Master
5. Mars

fAFferfRaa reat eht QTecenl T H 31T dTet ShA o YR ford |

1. Marked
2. Maker
3. Marker
4. Master
5. Mars

Options:
1) 21354
2) 23154
3) 25314

4) 21534
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Correct Answer: 21354
Candidate Answer: 21354

QID : 211 - In the following question, select the missing
number from the given series.

3, 14, 35, 46, 67, ?
ffeiiRad s | fCu v fashett & 9w sick AT HIfSQ|

3, 14, 35, 46, 67, ?
Options:

1) 78

2) 68

3) 98

4) 88

Correct Answer: /8
Candidate Answer: 78

QID : 212 - A series is given with one term missing. Select
the correct alternative from the given ones that will
complete the series.

XYZ, ABC, DEF, ?

Uk 31ehd f&ar T g, faH @ Ueh Ug o 81 feu ¢ faehedt |
& gg 98! faeed gg, St SrehA ol g1 R

XYZ, ABC, DEF, ?
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Options:
1) HIJ

2) GHK
3) GHI

4) GHJ
Correct Answer: GHI
Candidate Answer: GHI

QID : 213 - In the following question, select the odd word
from the given alternatives.

ffeiiRad s # AT 7T faehett A 9 fawH 216 ol giAT|
Options:

1) Mercury

o[

2) Mars

HiTel

3) Earth

gedt

4) Sun

o

Correct Answer: Sun

Ge

Candidate Answer: Sun

Ee
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QID : 214 - In the following question, select the odd

number pair from the given alternatives.

ffeiiRad uy A &g 7 faeheut & 9 faww dwear g of gl

Options:

1) 221 - 663
2) 190 - 570
3) 264 — 792
4) 108 — 323

Correct Answer: 108 — 323
Candidate Answer: 108 — 323

QID : 215 - In the following question, select the odd letters
from the given alternatives.

Fferfaa oy & fou g faseat 7 @ fauw sert ot gyl
Options:

1) AZ

2) BY

3) MN

4)LP

Correct Answer: LP
Candidate Answer: LP
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QID : 216 - Identify the diagram that best represents the
relationship among the given classes.

Liquid, Milk, Water

dg IR Y Sl A U 7Y i <k ofi<r o Geie opl Hal (g
AT gl

d¥et, &9, STl
Options:

1)

&

O
O

O

w
)

©

=
~

o

orrect Answer:

idate Answer:

O
Q
=
o
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QID : 217 - In the following question, select the related
word from the given alternatives.

Apple : Fruit: : Mars : ?
ffeiiRad st # AU 7T faehetl & 9 Heifdd 2reg ol AT

Q9 : hel © : HITA : ?
Options:

1) War

peCt

2) Planet

DE]
3) Cartoon

Pt

4) Orbit

<h &l

Correct Answer: Planet
U

Candidate Answer: Planet
U
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QID : 218 - In the following question, select the related

number from the given alternatives.
432:654::321:7?

ffeiiRad u 7 &g 7 facheut & 9 Gefdd e ol giAu|
432 :654::321:7?

Options:

1) 653

2) 431

3) 543

4) 987
Correct Answer: 543
Candidate Answer: 543

QID : 219 - In the following question, select the related
letters from the given alternatives.

MEAT : LDZS : : PALE : ?
Fferfeaa ay 7 e 7y fadent 7 & Hefda siert ot gyl

MEAT : LDZS : : PALE : ?
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Options:
1) OKZD

2) OBMF
3) 0ZKD

4) 0ZDK
Correct Answer: OZKD
Candidate Answer: OZKD

QID : 220 - In the following question, select the word
which cannot be formed using the letters of the given
word.

COUNTERFEIT

ffeiiad faenedl @ @ ag 21ee g STt AT 1T 21eg & HERT ol
UIRT hich Aol ST ST ehdT |

COUNTERFEIT
Options:
1) TURN

2) COUNT
3) FOUND

4) TIRE
Correct Answer: FOUND
Candidate Answer: FOUND
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QID : 221 - P is 3 years older to Q. Q is 4 years younger to
R.Ris 4 years olderto S. Sis 5 years youngerto T. Who is
the eldest?

PQé¥3a¥seisl Q RI4aIBITBIR ST4afaardisS, T
T 5 a9 BleT §1 G TST DI §7?

Options:

1) Q

2) T
3)R

4) S
Correct Answer: T
Candidate Answer: T

QID : 222 - Z walks 33 km towards north. He turns left and
walks 19 km. He turns left and walks 33 km. How far (in
km) is he from his starting point?

Z IR Y 3R 33 fop.Ht. Terdr 81 ag Irdt SR HSd1 8 a1 19
foh. Y. TreTdT g1 I8 Il STR gl g a1 33 foh.Ht. Terdr 81 98
30 RfAh fog & fohaHt g (foh |l #) TR 82
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Options:
1) 14

2) 15
3) 19

4) V32
Correct Answer: 19
Candidate Answer: 19
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QID : 223 - In the following question below are given

some statements followed by some conclusions. Taking
the given statements to be true even if they seem to be at
variance from commonly known facts, read all the
conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
l. All K are M.
lI. No L is K.

Conclusions:
. No Lis M.
ll. Some K are not M.

I 6T 0 Uy 7 & hYH 3R Ich 91 39 Rl TR AR
%o fAsehy f&Q 71 8, gTtifch 39 I A1 dei § f9=dr g
gond! g1 gt fAeepy g iR filk RaiRa o fh Ru mu sl @

fsepy, f&Q TTQ SRl o STUR WR gfhETTd g

<h Y.
. 9t K, M &1
Il. 3 L, KT8l 1

Ao
. SIS L, M 8l &
Il. o5 K, M 81 8|
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Options:
1) Only conclusion () follows.
hadt fAsnd (1) Tt 2|
2) Only conclusion (Il) follows.
Sharet Freer (11) TEt 2|
3) Both conclusion follow.
g1 gt fen 98l 81
4) Neither conclusion (1) nor conclusion (II) follows.

T 3t e (1) 7 & e (11) 9t 21

Correct Answer: Neither conclusion (I) nor conclusion (ll)
follows.

=t (seny (1) =1 81 s (1) T8l &1

Candidate Answer: Neither conclusion (l) nor conclusion
(1) follows.

T ot fsent (1) 7 &) sy (1) g @1

QID : 224 - In a certain code language, 'sky' is written as
tall', 'tall' is written as 'short’, 'short' is written as 'red’, 'red’
is written as 'blue’ and 'blue’ is written as 'sun’. What is the
colour of tomato?

Uch [T ehle YTST |, 'STRIRA hi '&FT, ‘19T bl 'BleT, 'Ster
ol AT, ‘ST’ ohl e a1 i ot g forar Sirar g1 eare”

chT 3T <RIT &7
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Options:
1) sky
HThIRA
2) tall
SESI

3) blue
e

4) red
NIGH

Correct Answer: blue

Sl

Candidate Answer: blue

Sl

QID : 225 - In a certain code language, "FUNK" is written
as "'51" and "HULK" is written as "51". How is "HERO"
written in that code language?

Qe [afE ahle vmeT |, "FUNK" At "51" a1 "HULK" <ht "51"
foraT STIdT &1 39 hls 9T # "HEROQ" &l fohd e forar Sraem?
Options:

1) 45

2) 47

3) 43

4) 50

Correct Answer: 45

Candidate Answer: 45

Download More Papers From GovtJobsAlert.In



Download More Papers From GovtJobsAlert.In

QID : 226 - Suresh bought a shirt for Rs 697 with a
discount of 18% on the marked price. Find the marked
price of the shirt.

YR A U hHTST Sifchd Hed TR 18% hl @ o o1 697 T H
R | 1< T Sifchd Hed IaT|

Options:

1) Rs 850

8503

2) Rs 840
8403

3) Rs 831
831%

4) Rs 951
951 %

Correct Answer: Rs 850
850 %

Candidate Answer: Rs 850
850 %

QID : 227 - The sum of all odd integers between 12 and 42
is_____.

12 3R 42 o s <hl Gt fI0H quTich =TT hr AT gl
Options:

1) 415

2) 405

3) 440

4) 410

Correct Answer: 405
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Candidate Answer: 405

QID : 228 - Salim can do a piece of work in 30 days and
Javed can do the same work in 45 days. After work
together for 15 days, Javed stops working. How many
days Salim will take to complete the work that is left?

el Teh hrd ohl 30 &1 01 H o ehdT € IR Si1ae 34t v
ohl 45 &1 J U1 R ehdT 81 I hrH ol 15 Tt dep |1
fATThR S ch d1G SITAG ShIH heAT &G ohe edl g1 el o g4
hIH ohl URT he H fehd =TT HY ITQT?

Options:

1) 4 days

41

2) 8 days

8 fe

3) 6 days

6 fo

4) 5 days

5 fe

Correct Answer: 5 days

5 fea

Candidate Answer: 5 days

5 fea
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QID : 229 - A and B walk at average speed of 2 km/hr and
3 km/hr respectively. If A walks in North direction and B in
East direction beginning from the same origin at the same
time, what will be the distance between the two after 2
hours?

A T B hEST: 2 fohtl/ser 3fik 3 fopdi/ser ot ofiaa Tfd & Tetd
g1 3R A IR ot fa=m & 3R B qra ot fa=m & g & foig & gap

B! THT | ot 3TRFT dhed g, dif 2 G F16 3dh o1 ahl g3 T

gif?

Options:

1) 10 km

10 fopHt.

2) 2v13 km
2v13 ot

3) v13/2 km
v13/2 ferst.

4) V26 km
v26 .

Correct Answer: 2v13 km

2v13 ferst,

Candidate Answer: 2v13 km
2v13 et

QID : 230 - Dravid scored 45, 43, 62 and 74 in a series of
four one-day cricket match. What is his average score for
the series?

afore = 4 Al di Tenicadia fehdhe sigem # 45, 43, 62 3R 74
A TG | 3 HEAT H IHRT I ThiR RIT 82
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Options:
1) 60
2) 58
3) 54
4) 56
Correct Answer: 56
Candidate Answer: 56

QID : 231 - A shopkeeper offers 12% discount on an
electronic gadget with a marked price of Rs 5700. If he
still earns a profit of Rs 500, what is the cost price of the
gadget?

Qeh gehlMaR 5700 ¥ Sifchd Hed dTet Yeh Jetardli-ch Troid TR 12%
B &dl g1 3R fthe +ff ag 500 & T AT HATT 8, af TSI P
hd Hod <RI g7

Options:

1) Rs 4500

45002

2) Rs 5516
5516 %

3) Rs 6200
6200 %

4) Rs 4516
4516 %

Correct Answer: Rs 4516
4576 %

Candidate Answer: Rs 4516
45163
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QID : 232 - The total surface area of a cube is 1734 cm?.
What is the volume of this cube?

Qeh O ohl GRUT US &5thet 1734 912 &1 39 99 &I STId- ol
8?7

Options:

1) 4913 cm?

4913 g3

2) 5013cm?3
501393

3) 4813 cm3
4813 a3

4) 4713 cm?
4713 9H3

Correct Answer: 4913 cm?3
4913 Qi3

Candidate Answer: 4913 cm?3
4913 Q3

QID : 233 - A number when divided by 7 leaves a
remainder 4. When the square of the number is divided by
7 the remainderis ____.

Uch I<T ahl 7 T fa9TfSid e IR 4 Y §9dT 81 579 39 &1 ch
it ant 7 9 faenfora forar Sirar 8, at siuwhel __ 8
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Options:
1) 4
2) 2
3)3
4) 1
Correct Answer: 2
Candidate Answer: 2

QID : 234 - The sum of all three digit natural numbers
divisible by 9 is :

9 9 fauIfoid g1 arelt 3 3ichi <hl Tt UTchd HATSHT Al TNT
el

Options:
1) 55300
2) 55350
3) 55500
4) 55555
Correct Answer: 55350

Candidate Answer: 55350

QID : 235 - A person who spends 92 % of his monthly
income is able to save Rs 2500. What is his monthly
income?

Ueh f<h 31U HIf¥eh 31T ahl 92% W e &dT g 31k 2500 3T
hl ATfAeh SId ShdT &1 IYch! HTYch 31T T 87
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Options:
1) Rs 31250
312503

2) Rs 30500
30500 %
3) Rs 32550
32550 %

4) Rs 32250
322502

Correct Answer: Rs 31250
31250 %

Candidate Answer: Rs 31250
312503

QID : 236 - A cloth seller sells 80% of his stock for a
particular item and recovers the cost price. If he sells the
remaining stock at the same price then what will be his
profit percentage after selling the complete stock?

Uch g fachdT faiy @ oh 3794 Tieh ohT 80 Ufasrd dadr & 3R

hd Hod Il oidl 81 3R Ig &4 g§Y ek ohl IHT Hed UR sT]
STRI I g dt ORT Wich ST oh d1¢ IHhT AT Ufdrd &1 gh?
Options:

1) 20%

2) 25%

3) 40%

4) 10%

Correct Answer: 25%

Candidate Answer: 25%
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QID : 237 - A sum of Rs 9000 brings simple interest of Rs
2970 in three years. If the interest rate is increased by 2 %,
what will be the interest in three years on the same
capital?

9000 ¥ <hl Y=RIIRAI TR 3 g8 H 2970 3 TYRUT ATT {HAdT &
IR 1T hl & 2% Fol & ST, df 3 a9 & I YRR IR &1
fehaT BhTT?

Options:

1) Rs 3520

35202

2) Rs 3510
3510%

3) Rs 3540
3540%

4) Rs 3550
35502

Correct Answer: Rs 3510
35102

Candidate Answer: Rs 3510
3510%

QID : 238 - What least number must be added to 738 so
that the sum is completely divisible by 597

738 H &hH Y A fehd=il HE&AT Silg-! Mgy dlfch el I 59 °
gui faTsy gt Sirg?
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Options:
1) 15
2) 13
3) 27
4) 29
Correct Answer: 29
Candidate Answer: 29

QID : 239 - The monthly salaries of A and B are in the ratio
4:5. If both of them get a salary increment of Rs 3000 per

month, the new ratio of their monthly salary becomes 5:6.
What is the new monthly salary of A?

A T B & ATf8ch dd-TT T S1UTd 4:5 81 3R i1 bt 3000
ol AT da+1 gieg [Aerdt 8, at 3ch ATifes da=1l ol =T 3uTd
5:6 I SITdT g1 A Al =721 HIf¥eh a1 872

Options:

1) Rs 15000

15000 %

2) Rs 18000
18000 %

3) Rs 8000
8000 &

4) Rs 11000
11000 %

Correct Answer: Rs 15000
150003

Candidate Answer: Rs 15000
150003
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QID : 240 - A car covers a distance of 16 kms in 30

minutes. What is its average speed?

Teh R 16 fohdt. <hl ot 30 AT H a9 hadt &1 IHehT S i
T 8?

Options:

1) 16 km/hr

16 foRHY./der

2) 32 km/hr
32 fopdt. /8T

3) 24 km/hr
24 fopdt. /€T

4) 8 km/hr
8 fohdt. /geT

Correct Answer: 32 km/hr
32 forHt./ger

Candidate Answer: 32 km/hr
32 fohHt. /gaT

QID : 241 - The sum of 6 consecutive integers is 9. What
is the lowest integer?

6 TR YUTich TATST bl ANT 9 g1 e BIET YuTich H&AT R
g?
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Options:
1) 1

2) 0
3) -2

4) -1
Correct Answer: -1
Candidate Answer: -1

QID : 242 - Sohan spends 80% of his salary and saves the
rest. If his salary is increased by 20% and he saves half of
the increased amount besides the amount he previously
used to save, what will be the percentage change in his
monthly savings?

g 31U+ ad- ahT 80% W hdl & 3R AY hl SId hdl g
3R JGch I | 20% bl g chl STl g 3R Ig Ugel ¥ oid
3 H Uh MR & AT A Jieg T 1T [§TT Iad T g,
dt 3Gch A1f¥eh sad | fehaw ufasra &1 aikad= gim?

Options:
1) 20%

2) 40%
3) 50%

4) 10%
Correct Answer: 50%
Candidate Answer: 50%
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QID : 243 - How many integers are there between 39 and
420 which are exactly divisible by 9?

39 3 420 % T 9 & T aRE & Rarew g9 arelt guites ey
fohat 87

Options:

1) 41

2) 42

3) 43

4) 44

Correct Answer: 42

Candidate Answer: 42

QID : 244 - A shopkeeper sells stock of 6 buckets at a
total loss of Rs 360 divided equally on each bucket. If he
incurs a loss of 20 percent on this stock, what is the
selling price of each bucket?

Uch GhMGR 6 dlfecdl ch Ueh Tich H H Ucch dlec! <hl Teh THT
gl TR el 360 FTUY oh TehdH TR T &1 3R I8 39 lch WX
el 20 Ufdsrd <t g1 gidl 8, At U a1t ohl faehd Jed orm

87
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Options:
1) Rs 240
2402

2) Rs 260
2603

3) Rs 280
280 %

4) Rs 290
2003

Correct Answer: Rs 240
240 %

Candidate Answer: Rs 240
2402

QID : 245 - Rajat does a work in 10 days and Suhail does
the same work in 15 days. In how many days they
together will do the same work?

3STd Uk & 10 T & ORT et & SR ool 3T ahd ot 15 At
URT H AT g | I A1 AeTeh 39 A ot foha Tl | gr1 ahdit?
Options:

1) 6 days

6 fot

2) 5 days

5 fe

3) 4 days

4 &=

4) 8 days

8 fe
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Correct Answer: 6 days

6 fea

Candidate Answer: 6 days

6 fo

QID : 246 - If Rs 2232 is divided in the ratio of 8:13:15
among A, B and C respectively, what will be the share of
B?

3R 2232 T &t A, B a1 C & ot 8:13:15 & Hgurd | faifaid
fohaT ST 8, dt B <Al fa<at or-m ghn?

Options:

1) Rs 496

496

2) Rs 806
8062

3) Rs 706
706 %

4) Rs 930
930 %

Correct Answer: Rs 806
806 ¥

Candidate Answer: Rs 806
806 %
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QID: 247 -

The pie chart below shows fund allocated to a village for different
areas covered under a special village development scheme of Rs
1200 Crore. Answer the question below on the basis of the details
given in the following pie chart.

A v g5 9é A v 9ig 9w & amAor e aeer & ded
faffieer #el & 3mafed er 1200 U5 F9A &I Lerier & faagor
21 feafaf@g yea @ 3ax 9 Wi F v av Affes #@er &
gl & dafda s & 3R W )

® sevage/diast
® Drinking Water/J3sTel

" Toilet/eftaTerr

® Community

centre/m\ﬁff qX
B glectrificat ion/ﬁ{ﬂ?ﬁm

" Road/dsH

What is the total fund allocation for Road and Sevage
construction together?

TSeh 3R e il eh (AAT0T & fog sreifed et Al feha=il 872

Options:
1) Rs 456 Crore
456 e UL

2) Rs 466 crore
466 RIS UL

3) Rs 468 crore
468 s TUY

4) Rs 492 crore
492 RIS IqY

Correct Answer: Rs 456 Crore

456 RIS ST
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Candidate Answer: Rs 456 Crore

456 TS I

Download More Papers From GovtJobsAlert.In



Download More Papers From GovtJobsAlert.In

QID : 248 -

The pie chart below shows fund allocated to a village for different
areas covered under a special village development scheme of Rs
1200 Crore. Answer the question below on the basis of the details
given in the following pie chart.

A v g5 9é A v 9ig 9w & amAor e aeer & ded
faffieer #el & 3mafed er 1200 U5 F9A &I Lerier & faagor
21 Arfaf@g ved 39 95 9 & v v [ffes 7 &
gl & dafda s & 3R W )

® sevage/diast
¥ Drinking Water/9<Tel

" moilet/elaTer

® Community

centre/ﬁ-‘l‘l\ﬁff qX
¥ Electrification/fagdTeoT

" Road/dsH

Find the total budget for electrification?

farerdtenzur ok forq et sreTe fohaHT 872
Options:

1) Rs 60 Crore

60 s T

2) Rs 100 Crore

100 &hers 30y

3) Rs 10 Crore
10 S FUL

4) Rs 120 Crore
120 RIS TqY

Correct Answer: Rs 120 Crore

120 oIS 3qd
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Candidate Answer: Rs 120 Crore

120 oIS 30

QID : 249 -

The pie chart below shows fund allocated to a village for different
areas covered under a special village development scheme of Rs
1200 Crore. Answer the question below on the basis of the details
given in the following pie chart.

A Br g5 oé & v g 9w & amAor A e & ded
faffieer #el & 3mafed Fer 1200 U5 T9A &I LeRuier &1 faagor
21 rfaf@a yed 3O 95 9 & v av [ffes @ &
g & Fafda st & 3R | &)

® sevage/diast
¥ Drinking Water/JasTel

" moilet/elATer

m Community

centre/m\ﬁff qX
¥ Electrification/faegdtevor

¥ Road/Ts®h

What is the total fund allocation for Drinking Water and
Toilet together?

UgSTel 3R MITeTd &1 eh folq et fehait AfRY srreifed g2
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Options:
1) Rs 676 Crore
676 RS FUY

2) Rs 576 Crore
576 s ¥UY

3) Rs 588 Crore
588 &hels ¥Ud

4) Rs 598 Crore
598 &S ¥UY

Correct Answer: Rs 576 Crore

576 SRS ¥UY

Candidate Answer: Rs 576 Crore
576 &S ¥UY
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QID : 250 -

The pie chart below shows fund allocated to a village for different
areas covered under a special village development scheme of Rs
1200 Crore. Answer the question below on the basis of the details
given in the following pie chart.

A BT a5 O9é A v 9ig 9w & amAor e e & ded
faffieer #el & 3mafed el 1200 U5 T9A &I Lerier & faagor
21 Arfaf@g ved 39 95 9 & v v [ffes 7 &
gl & dafda s & 3R W )

® sevage/diast
® Drinking Water/U3sTel

" Toilet/eftaTer

® Community

centre/éﬁ-‘q\ﬁa X
® Electrificat ion/ﬁ{{lj—ﬁw

" Road/dsH

How much more amount is allocated for Drinking Water
than that for the Sevage construction?

diast fAator & forg sefea Tf @ dasta & forg iR fahd=t
37ferep fRY 3rrdfed ht 718 87

Options:

1) Rs 48 Crore

48 S 3T

2) Rs 40 Crore
40 TS IqY

3) Rs 36 Crore
36 IS I

4) Rs 24 Crore
24 TS TUY
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Correct Answer: Rs 48 Crore

48 S 3UY

Candidate Answer: Rs 48 Crore

48 s 3UY

QID : 251 - In the following question, some part of the
sentence may have errors. Find out which part of the
sentence has an error and select the appropriate option. If
a sentence is free from error, select '‘No Error'.

A century ago, Math was thought (1) /to be a orderly
Platonic phenomenon, (2) / imperious in its perfection. (3)
/ No error (4)

Options:

1) 1

2) 2

3)3

4) 4

Correct Answer: 2

Candidate Answer: [ NOT ANSWERED |

QID : 252 - In the following question, some part of the
sentence may have errors. Find out which part of the
sentence has an error and select the appropriate option. If
a sentence is free from error, select ‘No Error'.

Mathematics increasingly revealed truths itself (1)/ that

utterly confounded the (2)/ expectations of philosophers.
(3)/ No error (4)
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Options:
1) 1

2) 2
3) 3

4) 4
Correct Answer: 1
Candidate Answer: 1

QID : 253 - In the following question, the sentence given
with blank to be filled in with an appropriate word. Select
the correct alternative out of the four and indicate it by
selecting the appropriate option.

Our troops fought bravely.

Options:
1) are

2) have
3) were

4) has
Correct Answer: have
Candidate Answer: were
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QID : 254 - In the following question, the sentence given

with blank to be filled in with an appropriate word. Select
the correct alternative out of the four and indicate it by
selecting the appropriate option.

Neither of them has done duty.
Options:
1) its

2) their
3) his

4) them
Correct Answer: their
Candidate Answer: his

QID : 255 - In the following question, out of the given four
alternatives, select the one which best expresses the
meaning of the given word.

Afflict
Options:

1) Comfort
2) Annoy
3) Solace
4) Care

Correct Answer: Annoy
Candidate Answer: Care
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QID : 256 - In the following question, out of the given four

alternatives, select the one which best expresses the
meaning of the given word.

Barrier
Options:
1) Bound

2) Open
3) Minimum

4) Free
Correct Answer: Bound
Candidate Answer: Minimum

QID : 257 - In the following question, out of the given four
alternatives, select the one which best expresses the
meaning of the given word.

Bind
Options:
1) Release

2) Unite
3) Fasten

4) Loose
Correct Answer: Unite
Candidate Answer: Unite
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QID : 258 - In the following question, out of the given four
alternatives, select the one which is opposite in meaning
of the given word.

Reason

Options:

1) Brain

2) Charge

3) Acumen

4) Intellect

Correct Answer: Charge
Candidate Answer: Acumen

QID : 259 - In the following question, out of the given four
alternatives, select the one which is opposite in meaning
of the given word.

Rectify
Options:
1) Adjust
2) Amend
3) Falsify

4) Improve
Correct Answer: Falsify
Candidate Answer: Falsify
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QID : 260 - In the following question, out of the given four

alternatives, select the one which is opposite in meaning
of the given word.

Incite
Options:
1) Discourage

2) Craze
3) Agitate

4) Activate
Correct Answer: Discourage
Candidate Answer: Activate

QID : 261 - In the following question, out of the four given
alternatives, select the alternative which best expresses
the meaning of the Idiom/Phrase.

At the drop of a hat
Options:
1) Rarely

2) Hardly
3) Instantly

4) Quietly
Correct Answer: Instantly
Candidate Answer: [ NOT ANSWERED |
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QID : 262 - In the following question, out of the four given
alternatives, select the alternative which best expresses
the meaning of the Idiom/Phrase.

Be glad to see the back of
Options:

1) To speak of an issue

2) Do what is expected

3) Be happy when a person leaves

4) Examining something carefully to not miss out any
details

Correct Answer: Be happy when a person leaves

Candidate Answer: Examining something carefully to not
miss out any details

QID : 263 - Improve the bracketed part of the sentence.

Perhaps you make it a (pointing) to read the business or
sports section of your daily newspaper.

Options:
1) point
2) points
3) pointed

4) No improvement

Download More Papers From GovtJobsAlert.In



Download More Papers From GovtJobsAlert.In
Correct Answer: point

Candidate Answer: No improvement

QID : 264 - Improve the bracketed part of the sentence.

Take a look at this video to understand why dancing is the
first (steps) to conquer any fitness test.

Options:
1) stepping

2) stone
3) step

4) No improvement
Correct Answer: step
Candidate Answer: step

QID : 265 - In the following question, out of the four given
alternatives, select the alternative which is the best
substitute of the phrase.

Dealing with cells
Options:

1) Cryptograph

2) Cytology

3) Calliography

4) Cynosure
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Correct Answer: Cytology

Candidate Answer: Cytology

QID : 266 - In the following question, out of the four given
alternatives, select the alternative which is the best
substitute of the phrase.

Turning point of danger/disease
Options:
1) Cresendo

2) Creditor
3) Crisis

4) Convergence
Correct Answer: Crisis
Candidate Answer: [ NOT ANSWERED |

QID : 267 - In the following question, a word has been
written in four different ways out of which only one is
correctly spelt. Select the correctly spelt word.

Options:
1) Vegetation

2) Vegitation
3) Vegetashun

4) Vegieetation
Correct Answer: Vegetation
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Candidate Answer: Vegetation

QID : 268 - In the following question, a word has been
written in four different ways out of which only one is
correctly spelt. Select the correctly spelt word.

Options:
1) Scientist

2) Signtist
3) Sceintist

4) Scientest
Correct Answer: Scientist
Candidate Answer: Scientist

QID : 269 - Rearrange the parts of the sentence in correct
order.

You must

P: lesson before you
Q: learn your

R: leave the class

Options:
1) PRQ
2) RQP
3) QPR
4) RPQ
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Correct Answer: QPR

Candidate Answer: QPR

QID : 270 - Rearrange the parts of the sentence in correct
order.

Most of

P: | had invited
Q: turned up
R: the people
Options:

1) PRQ

2) RQP
3) QPR
4) RPQ

Correct Answer: RPQ
Candidate Answer: RQP
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QID : 271 - In the following passage some of the words

have been left out. Read the passage carefully and select
the correct answer for the given blank out of the four
alternatives.

Over the centuries, as society has become more
democratic, etiquette has become an excellent of
good manners, common sense, and rules of conduct that
cultural norms and the rules of our society as a
whole rather just one distinct group within it. It has

to do with the fashion of the moment or who is in
power and more to do with putting others at and an
ethical code of conduct.

an excellent of good manners
Options:

1) combiation

2) shake

3) focus

4) mat

Correct Answer: combiation
Candidate Answer: combiation
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QID : 272 - In the following passage some of the words

have been left out. Read the passage carefully and select
the correct answer for the given blank out of the four
alternatives.

Over the centuries, as society has become more
democratic, etiquette has become an excellent of
good manners, common sense, and rules of conduct that
cultural norms and the rules of our society as a
whole rather just one distinct group within it. It has

to do with the fashion of the moment or who is in
power and more to do with putting others at and an
ethical code of conduct.

that cultural norms
Options:

1) were

2) reflect

3) not

4) on

Correct Answer: reflect
Candidate Answer: were
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QID : 273 - In the following passage some of the words

have been left out. Read the passage carefully and select
the correct answer for the given blank out of the four
alternatives.

Over the centuries, as society has become more
democratic, etiquette has become an excellent of
good manners, common sense, and rules of conduct that
cultural norms and the rules of our society as a
whole rather just one distinct group within it. It has

to do with the fashion of the moment or who is in
power and more to do with putting others at and an
ethical code of conduct.

whole rather just one
Options:

1) they

2) this

3) than

4) those

Correct Answer: than

Candidate Answer: than
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QID : 274 - In the following passage some of the words

have been left out. Read the passage carefully and select
the correct answer for the given blank out of the four
alternatives.

Over the centuries, as society has become more
democratic, etiquette has become an excellent of
good manners, common sense, and rules of conduct that
cultural norms and the rules of our society as a
whole rather just one distinct group within it. It has

to do with the fashion of the moment or who is in
power and more to do with putting others at and an
ethical code of conduct.

It has to do with
Options:

1) rounds

2) base

3) mildly

4) less

Correct Answer: less

Candidate Answer: less
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QID : 275 - In the following passage some of the words

have been left out. Read the passage carefully and select
the correct answer for the given blank out of the four
alternatives.

Over the centuries, as society has become more
democratic, etiquette has become an excellent of
good manners, common sense, and rules of conduct that
cultural norms and the rules of our society as a
whole rather just one distinct group within it. It has

to do with the fashion of the moment or who is in
power and more to do with putting others at and an
ethical code of conduct.

putting others at and an ethical code
Options:

1) there

2) them

3)a

4) an

Correct Answer: an

Candidate Answer: there

QID : 276 - The people of the Harappan civilization were

gSWT I ch AT |
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Options:
1) Rural
gretor
2) Urban
S
3) Nomad
GG
4) Tribal
TSI

Correct Answer: Urban
e

Candidate Answer: Urban

SIS

QID : 277 - Who was the first Tirthankara of the Jains?

Sifal b Uget diefend sl o2

Options:
1) Aristhenemi

JTREAH
2) Parshwnath

BIEEIR)
3) Ajitnath
CINREIN]

4) Rishabhdev
ERCG]

Correct Answer: Rishabhdev

EL R
Candidate Answer: [ NOT ANSWERED |
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QID : 278 - Which of the following is NOT a part of the
solar system?

f=feRad & 9 o9 1 GRASe Al W A8l 8 ?
Options:
1) Asteroid

&als
2) Comet

YR

3) Planet

PES
4) Nebula

Correct Answer: Nebula

Candidate Answer: Nebula

BRREIEED]

QID : 279 - What is the total number of continents in the
world?

fasy H AUl <hl et T fehaHt g 2
Options:

1) 5

2) 6

3)7

4) 8

Correct Answer: /7

Candidate Answer: 7
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QID : 280 - What was the basis of formation of the Indian

Constituent Assembly?

YR <hl I THT TS che hl TR ST AT?

Options:
1) Proposal of Indian National Congress

WRAN I 0 ol U149

2) Cabinet Mission Plan, 1946
chiee fH2M ©I, 1946

3) Indian Independence Act, 1947
VR Wasar sifafagd, 1947

4) Proposals of the provincial / state legislature of the
Indian Dominion

YRAT SHAMIH & Uidig / I f[AYHSd ch U

Correct Answer: Cabinet Mission Plan, 1946

chfsqe fAsE @+, 1946
Candidate Answer: [ NOT ANSWERED |

QID : 281 - What type of constitution does India have?

YR ohl Afae fohd UehR a1 87
Options:

1) Flexible

&

2) Rigid

A~

3) Flexible and Rigid

TR 3R 3R

4) No option is Correct

1S frerey T AEi @
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Correct Answer: Flexible and Rigid

TR 3R 3 H

Candidate Answer: Flexible and Rigid
TR 3R 3=

QID : 282 - Which unemployment is found in abundance in
rural India?

WRA & UTHIOT &A1 | hI-Tl SRISHTRY 31feeh T8 STt 872
Options:
1) Seasonal unemployment

HrEHt SRISARY

2) Invisible unemployment

3G SRISTIR

3) Both seasonal and invisible unemployment

HIGHT 3R 15T SRISHTRT &1l

4) No option is right

1S ot frerea g 781 @

Correct Answer: Both seasonal and invisible
unemployment

Tt 3fR 31g SRISHIRY &1

Candidate Answer: Seasonal unemployment

HgHT SRR

QID : 283 - What are the terms "bull and bear" is related
to?

"Te1 U faeR" SrecTaed! ol ey fohad g 2
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Options:
1) Stock market
Ialch HIche
2) Banking
Sfch

3) foreign currency
fageft ge

4) Internal business

JAdfeeh ATUR

Correct Answer: Stock market
Iich HIche

Candidate Answer: Stock market
ICich HIche

QID : 284 - How much is the charge of an electron?

Uch Setcrel- UR fehdHT ST gidT 8 ?
Options:
1)-1.6x1019C

2)+1.6x 1019 C
3)-1.6x101°C

4)+1.6x101°C
Correct Answer: -1.6 x 1071° C
Candidate Answer: +1.6 x 101° C
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QID : 285 - What is used to test acid and base?

37T T Y <h URI&T0T oh foTq fohgent IuaiT fohar SiTar 82
Options:
1) Litmus paper

I E|
22 Cobalt paper
chldlTed T3
3) Ammonia paper

I E|

4) No option is right
g off fepey Tt 81 &

Correct Answer: Litmus paper

IGREGRCES

Candidate Answer: Litmus paper

IGREGRCES

QID : 286 - Parsec is the unit of

Ur& (parsec) 3hls e |

Options:

1) distance

E;fr <ht

2) time

TJHY

3) Brightness

Yh1ST chl THh hl

4) Of magnetic force
TFIhIY ST chl
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Correct Answer: distance

R <l

Candidate Answer: time
gHYg <hl

QID : 287 - The pressure inside the soap bubble is

T <h eldel h 3aL I &9 |

Options:
1) more than atmospheric pressure

qIgHSAY a1 I 3ffdeh giar gl

2) Less than atmospheric pressure

EIT!IHEPﬂ?IQIGI@qu glar gl

3) equal to atmospherlc pressure
&Td oh SRTeR gidT 6|

4) Half of the Atmospheric pressure

ATHSATT &Tel <hT SATYT BIdT 8|

Correct Answer: more than atmospheric pressure
agHee & & e gl 21

Candidate Answer: [ NOT ANSWERED |

QID : 288 - The study of flowers is called

el ST ST hgelTdl |
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Options:
1) Spermology
TS

2) Anthology
3) Pedology
dretetrett

4) Pomology
PIEISIN]]

Correct Answer: Anthology
EEICI|
Candidate Answer: Pomology

LIS

QID : 289 - Which of the following harmone is helpful in
ripening of natural fruit?

fAfeifRea 7 & o9 91 Ueh UTehideh thel Ukl dTel gTHIA @ ?
Options:

1) Cytokinin

grgclchIgi—-

2) Gibberellin

Sisifer

3) Auxin

3T

4) Ethylene

QU

Correct Answer: Ethylene

QU
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Candidate Answer: Ethylene

QA

QID : 290 - The harmful ultraviolet rays which comes from
Sun causes

g & 37 dTet gTi-chReh WRISHI fafeheon & gidr g
|

Options:

1) lung cancer
Ththg oAl chelR

2) mouth cancer
W ohl ¥R

3) Skin cancer
I <hl h¥l}

4) Liver cancer

Yehd hl hel

Correct Answer: Skin cancer
T Al haR

Candidate Answer: Skin cancer
a.
T <hl chg

QID : 291 - Hydroponics is related to
SIS ey w&ifdd @
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Options:
1) growth of plant without soil

ﬁzﬁasﬁmtﬁ%ﬁé?rq@@

2) growth of plant without water

qﬁ%ﬁmtﬁ%ﬁaﬁrq@@

3) conservation of water technology
QT ch deheiich chl TR&T0T

4) No option is correct.
i3 i fdeheT Tgt 781 8

Correct Answer: growth of plant without soil

A o form il <ht gieg &

Candidate Answer: conservation of water technology
T+t ch cIchwiich ohl TRETOT

QID : 292 - The physical structure of a Computer is called

hR i Hifdh JHTGC hgalldt 8 l
Options:

1) Software

I ddr

2) Hardware

gredar

3) Firmware

ThHadaR

4) Humanware

gATAW

Correct Answer: Hardware

gTedaR
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Candidate Answer: Hardware

gredar

QID : 293 - What is the national winter sport of Canada?

TS ohl LffdenTel = TS WA T 8 ?
Options:

1) Ice hockey

3159 gleh!

2) Rugby football

el Jedlel

3) Baseball

CECI|

4) Volleyball

GICICIR

Correct Answer: Ice hockey
3MTSH glehl
Candidate Answer: Ice hockey

TS gichl

QID : 294 - Who is the author of the book "Hitopadesh™

"feaTadar" AT ik & oi&dh hiH 87
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Options:
1) Chand Bardai
I SRaTS
2) Narayan Pandit
IR ufed

3) Nagarjuna

4) Vatsyaayan

T

Correct Answer: Narayan Pandit
IR0 Ufed

Candidate Answer: [ NOT ANSWERED |

QID : 295 - Which state has started the "NTR Arogya
Raksha Scheme™?

fohg TST A 'TAEISIR STRITY I&TT ST ahl IREY fohar ?
Options:

1) Bihar

fogr

2) Madhya Pradesh
HeZ sl

3) Andhra Pradesh
TSN UG

4) Goa

G|

Correct Answer: Andhra Pradesh
3TTET TCaT

Candidate Answer: Andhra Pradesh
3TTET TIeLT
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QID : 296 - Who invented the wireless?

IIIAY hl 3ATTAshR fehg= fopar a1?

Options:
1) Marconi

HTchi-
2) Newton

A
3) Charles Kettering

AT cha T

4) George Cayley

STl chet

Correct Answer: Marconi

HTeh -

Candidate Answer: Charles Kettering

T che {7

QID : 297 - Where is Salar Jung Museum situated in India?

YR H ARSI GUgd hal [d 87?
Options:

1) Jaipur

STaYR

2) Patna
Srci|

3) Lucknow
Y%

4) Hyderabad
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Correct Answer: Hyderabad

L[5 [

Candidate Answer: Hyderabad

L[] [

QID : 298 - "Kalidas Samman" is given by which of the
state government?

hITcIeIg G fohd Tod GRR EIRT TSI fohdT STTdT 82
Options:

1) Punjab

UISIC

2) Uttar Pradesh
IR TS

3) Madhya Pradesh
HeZ U

4) Chhattisgarh
SIS

Correct Answer: Madhya Pradesh
HeZ el

Candidate Answer: [ NOT ANSWERED |

QID : 299 - To which country has India started supplying
80 MW of additional power from January 1, 20177

1 S, 2017 T YR A fhg <271 vt 80 TraTe hl Sifdf<h
farsTet! <hl SIS = il 872
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Options:
1) Bhutan
e
2) Bangladesh
TG

3) Nepal
quret

4) Pakistan
gTfched™

Correct Answer: Nepal

Jura
Candidate Answer: [ NOT ANSWERED |

QID : 300 - Which is Pakistan's largest city?

TfchedT hl TaY §ST T8 hid 91 87

Options:
1) Islamabad
SEATHIETG

2) Lahore

IR

3) Karachi
S|

4) Faisalabad
thOTTdTe

Correct Answer: Karachi

heT=

Candidate Answer: Karachi

heT=
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